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 Brilliant Quartettes for ZYA--—Impressive Revorts from Australia
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}% wie waltz is uanced to 3/4 time—three beats in a bar . =
RS —played at a speed of about 42 bars a minute. The , =
j first beat of each bar is strongly accented. =
| The foundation step of the Waltz is the closed three Worl d I
step, called the pas-de-Valse. The first step of the three h o7
step is long, the second is also long though slightly =
shlorter ;c)ha? the}ﬁx;?fl, alx)ud thg tgirdlis gnly at.half .‘El‘gielp - =
taking the foot slightly beyond the closed position. e - =
: g;it long step is always taken on, the first beat of the Danglng .E
\ » I
- There is a distinet body swing to the Waltz, which f;.-,:
== is really a reactionary movement of the trunk in opposi- ==
tion to the movement of the legs. By “opposition” I . , . =
== mean contrary. For example, when the right foot is The following notes and  instruc~ =
E. forward and the left foot backward, the right hip and tions are adapted from the leciuretie =
HESL shoulder wlil be backward, when the left foot is forward, broadcasted from 2Y.A, Wellington B
> and right foot backward. The left hip and on Oclober 22 by Miss Phyllis s
] shoulder will be backward. This contrary movement Butes. 7
originates at the hips and travels up the trunk to the =
| shoulders. It is entirely natural and there must be no =
forced movement of the shoulders. When the feet are " 25
| together there is no opposition of the trunk. The Pas-de-Valse. Fig. B, The Pas-de.Valse. Fig. C, ¥
THE PAS-.de-VALSE. Count 2 (Fig. E): GENTLEMAN, Le{t— §
Count 1 (Fig. A): GENTLEMAN (For- Long step to the side on the sole’; LADY g
i ward), Right—Long step on heel, swing- Right—=Short step to the side on the sole’. i’g
: . ing the balance well forward and rising to Count 8 (Fig. ¥.): GENTLEMAN, Right é:f.:‘
= the ball of the foot; LADY (Backward), —Cloge right foot up to left rising to the =
?ﬁ Left—T.ong step on the hall of the foot let- balls of the feet; LADY, Left—Close left i
- % ting the balamce pass backward and drop- foot up to right rising to the balls of the feel. .&;::
% 1;:;;::8:0 the heel just before the right foot THE NATURAL TURN (Second Half). g
- Cous 2 (Vi B): GRNTURMAN (For.  Fortho Second Il of the o o o -
51 ward), Left-—slightly shorter step on the : . ! £
24 sole. balanc 1 forward: LADY (Bacl steps for the second half are the same as the ‘f:___f.:
= war:i) I;ghi—lvgli h’fll w:;o 1: M (() a:h: Lady’s steps for the first half, and vice versa. g
= colo. baltnce over the viobt fune D o8 *Note——On the first half of the turn the =
:';?«; ? . & ' gentleman is stepping round the lady and =
’ :_\f-g (fount 3 (Fig. C): GENTLEMAN (For- must take a longer side step to keep direetly %:
;;:—:E ward), Right—=Short step just pass the left opposite his partner. On the second half of =
1= on the ball of the foot. Both heels off the the turn his side-step is short while the lady =
{@ ’?001'3 LADY (]:’»ackward) » Left—gShort step takes a longer step to the side, Another =
% Just past the right on 'the ball of the foot way to remember this is—after a turn on a ;——E
;;-;w,; ~—Both heels off the floor. forward step, a long side step; after a turp i
i:'% TO CQNTIN-UE: Gentleman steps for- on a backward step, a short side step. .E:.
lg ward on left foot, and Lady backward on THE “WALTZ CURVE" =
= right foot, repeating the three movements, E
?_-_’f:ﬁ. Long—TLong—Pass. The Waultz has an undulating movement ZG
] THE NATURAL TURN (First Half). which is sometimes ealled the “Waltz Curve.” g
Count 1 (same as fig. A); GENTLEMAN Observe how in the two steps deserided the =
Right—X.ong step on the heel rising to the movement {s—Down on ene, Up on 'the sole !
ball of the foot and making a half turn to on two, Up on the ball on three. This Down =
the wight. Left shoulder swinging round: Up—TUp movement should be maintained ’ L'..'-:‘:'
. LADY L'eft-—Lon ¢ step on the bzﬁl of ’ché throughout the dance and combined with b
3 ! g N o . - ryo
. foot dropping to the heel and making a half the natural body swing, gives the frue in- The Matural Turn (first half) °
. turn to the right. terpretation of the waltz rhythm, .
Tig. H. Tig I?
N ] All Pases by Miss Beryl Clarke and Mr. Colledgs, All Photographs by S. P, Andrew.




